TR ERE | S5E | 8L FEE | Wex
HER2s X% . LU d%éﬁﬁ(ﬂ% _ / E
X E/A%100
SBH51 2RI 66008| 14,6498 50%| 7.224@|  7.3200] 1109%
. 1 3EN5 1 (BT 8810Mm] 19532M] 50%| ©.766Mm|  ©.760M| 1108%
T8lBH52 1 BEC 66008 146498 50%| 7.324M] 73208 1109%
S5 1BEC 520108] 48530M| 50%| 24.4168] 244008 1109%| 3K B0 LS 5.
SBHS 1 2BEC >010m| 44840 50%| 22428 22408 111.4%
IO 1 3BN5 1 (REC 2630Mm]  5979m] 50%| 2080m| 2980 111.2%
=k T8N 52 1 BEC 20108 44840 50%| 22428 20408 1114%
SBH52 1BEC 6.700M| 140408 50%] 74748 74600 1113%| 3K B05 83 5.
SBHS 1 2BEC 1110Mm]  2477/8] 50%| 1238 12308 1108%
=1a3= (PR [138BH51 (BIC 14808 3.308M] 50%| 1651  16508| 1115%
=) 8152 1 BEC T110Mm]  2477/8] 50%| 12380 12308 1108%
S5 1BEC 37008 8258M] 50%| 4.1208] 41108 111.1%| 3K 305 53 5.
SEHS 1 2BEC 6700 1.506M] 50%| 753/ 7508 111.9%
5 o st 1 3EN5 1 (BT so0m] 20088 50%| 1.004M]  1.0008] 1124%
R2RAE T8l 52 1 BEC 6700 1506M] 50%| 753/ 7508 111.9%
S5 1BEC 55308 50218 50%] 25108 25008 112.1%| LaxB05 53 5.
SBHS 1 2BEC 6500 1.461Mm| 50%| _ 730M 7308 1123%
N 1 3EN5 1 (BT S70M]  1.048M| 50%|  O74AM 5700 1115%
=&k T8N 52 1 BEC 6500 1.461M| 50%| 730 7308 112.3%
SBEH52 1BEC 5170Mm]  4870M| 50%| 24350 24300 1120%| 3K B0E 5T 5.
SEHS 1 2BEC 880 1.973m| 50%|  9S6M 980 1114%
gam Ggmam) [13BN51BET T180Mm| 26308 50%| 1.315M0]  1.3108| 1110%
== BBRE) Hgphpooimzc 880 1973Mm| 50%|  986[ 580 111.4%
SBEH52 1BEC 5040M|  6577M| 50%| 3288M| 32700 1112%| LaxB0a a3 5,
0= 1 1 8% BH50 1 BEC 5300 1.180M| 50%| 594 500/ 111.3%
SBEH5 1 2BEC 530M]  1.189M] 50%| 594 5000 111.3%
- 13851 (BET 710M]  1585Mm] 50%| 792 750m| 111.3%
18NS0 1 BEC 53010  1.189M] 50%| 594 500/ 111.3%
SBEH52 1BEC 77708 39630 50%| 19810  1.0708] 111 3% EaxB0EFErd 5.
SEHS 1 2BE T 2400 1.012M] 50%| 506 500/ 1136%
- 13851 1BET 600M|  1.349M| 50%| 674 6700 111.7%
18NS0 1 BEC 2400  1.0128] 50%| 506 5000 1136%
OWN52 16T 74808 33740 50%| 16870  1.6708] 1128%| EaxB0E a5,
£B8mM55Y L OO TEETC (28 scom| 3430m| 50%| 1715m| 1.230m| 1500%

BIC D=540M)




